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SREHh IKE Kig B Alexandrium s Dinophysis &
(°C) pp- D. forti D. acuminata F DD Dinophysis
. Om 19.73 31.22
T 5m 19.56 33.46 0 0 140 0
Om 18.52 30.42
@fAH 5m 19.55 33.52 0 0 0 0
10m 19.44 33.68
— Om 16.97 29.40
@=ViR 5m 19.41 3355 0 0 0 0
Om 18.61 32.77
@EFE om 18.92 33.58 0 0 0 30 D.caudata
10m 18.92 33.68
®ER 10m - - 0 0 0 10 D.caudata
®KXiR 10m - - 0 0 0 0
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Alexandrium spp. (cells/L)

AEH
OEE |QB#ARH |Q=ViR | @DEHIF |BEE |©OKR
4818 20 0 30 0 = 0
488H 0 0 20 0 0 0
48178 90 0 0 0 = —|
4H22H 70 40 40 0 0 0
5A7H 130 10 0 0 0 0
5H13H 420 10 0 0 0 0
5823H 2390 290 40 30 = 10
5827H 890 350 110 20 0 0
6A3H 490 430 4360 = 10 0
6848 - - - 110 = -
6810H 860 550 20 0 0 60
6818H 60 70 10 20 = -
6824H 30 10 0 10 0 0
7A18 30 0 20 0 0 0
7898 190 20 20 20 - —|
7H16H 60 70 0 0 0 0
7A22H 0 0 0 0 0 0
7A29H 0 0 0 0 0 0
8A6H 50 10 0 0 0 0
8A19H 40 0 20 0 0 0
8H26H 10 0 0 0 0 0
9A18H 30 0 10 0 = -
9H25H 0 0 0 0 0 -
9830H 0 0 0 0 0 0
1078 0 0 0 0 = -
10H16H 0 0 0 0 0 0
HER D. fortii(cells/L)
DA | QAR |Q=VIR |@EFHIF |OFER [OXR
4818 10 0 0 0 = 0
4H8H 0 0 0 0 0 0
4H178 0 0 0 0 0 0
4H22H 0 0 0 0 0 0
58780 0 0 0 20 0 20
5813H 10 10 10 0 0 0
5H23H 10 10 0 120 = 120
5827H 0 30 10 60 20 300
6838 10 170 90 = 10 20
6848 - - - 0 - -
6H10H 20 70 40 130 70 30
6818H 30 40 90 150 = -
6824H 10 40 70 20 100 80
7A18 10 10 0 10 0 90
798 0 10 0 0 = -
7A16H 0 0 0 0 20 0
7822H 0 0 0 0 0 0
7829H 0 0 0 0 40 0
8H6H 0 0 0 0 0 0
8H19H 0 0 0 0 0 0
8H26H 0 0 0 0 0 0
98 18H 0 10 0 0 - -
9A25H 0 20 0 0 0 -
9A30H 0 0 0 0 0 0
10878 0 0 0 0 0 0
10816H 0 0 0 0 0 0
mER D. acuminata (cells/L)
OEE |QB#ARH |-V | @DEHIEK |BEE |OKXR
4H18 820 0 0 0 = 0
4H8H 1380 50 10 0 = -
48178 2430 - 10 10 = -
4H22H 30 20 0 10 0 30
5878 630 20 0 40 0 10
5813H 0 50 0 50 10 50
5H23H 270 160 20 40 = 0
5827H 40 70 10 40 0 300
6A3H 10 30 50 - 20 10
6848 - - - 30 = -
6810H 40 180 0 0 0 20
6818H 180 30 0 30 = -
6824H 1190 10 0 0 0 20
7A18 1050 40 0 0 0 0
7898 2680 0 0 0 = -
7816H 210 30 10 0 0 0
7H22H 10 20 0 0 0 0
7H29H 0 10 20 0 0 0
8H6H 40 0 10 0 0 0
8H19H 150 0 0 0 0 0
8H26H 0 0 0 0 0 0
9A18H 7590 270 10 0 = -
9A25H 650 0 0 0 0 -
98 30H 660 10 0 0 0 0
10878 730 30 0 0 0 0
10H16H 140 0 0 0 0 0
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